11,8

200 m
WLal - /8.001.02
T m— 1
| I
8.001.04 ! |
o
3] | |
+l
g I I
I
® % !
I I
I I
| |
I I
| |
e L I Bt I N I S e e Se P | I: 1 I I %o
| | 3
| | ©
) —T ) T T | 1] [ 1l
— T =
1000 | 1000 | 1000 | 1000 | |
4000 40.00 | :
I I
| |
I I
I I
10.10 115£1.5 ! !
L L L1 L L
8.001.03 T 'éE[' e
T
400042 - p I
30002 § & - ! 0
- o
2667+2 H | g
L4 4,2 e | &
2000+2 —T : @ - i
133342 A B— 40.00 b !
15043 100042 N id 3 &
E E 8.001.01 0\ s ,
B — B o AR g T % B - ) I +1
o wZ]- | 5 |o =/ . 1855
Qs Xt i N0 S s S I DA I MM I NI gl o7 | = 30 3 . 40.30 fll\
R e e & - - - - - - - ——————— - ——————————— B - - - - - - -—-—-—-—-—————— - 3| S 0 - | 2
™ ~ = ~y ™ +
e A e m e e e T m P mmmmmmm e ;o - - H4-- : g
40.42 40.60 ha
=| = Y A 40 =| = I
21021 21041 ol F—— —_gHITE - _@_ _ :
22021 220+1 A —
: 380435 45 c c
0 o 2
65042 10002 10002 100042 65042 8.001.05 - © C-C s
430075 = 252 o
h
Deflection . . G I _31._ S | B b
Detail X Detail Y Detail Z Y-axis +5 AA . . B-B B . 5 8
= + +
60
55 . N ; . 40.32
.G ) - 4
! "PQ(;G
10 9 8 > Single- | Overall | Material/ | N Drawi
3 “ © 4240.5 — 18£0.5 - [ = " P Part No. Qty. Description Dimension WI(:ig r?t W;ier:t Qiae”;la orm rawing
® 2205 - & { \'?\9_?_ N A H & 9 g y
- ¢ o =4 ] 8.001.01 12 Passion beam, profile B Bl. 310x2.5x4300 | 38.00 | 456.00 | S355JR EN 10025 / EN 1461
_ _ ~ N 8.001.02 |48 Passion post, C100/60/25/4 BI. 238x4x1650 13.00 624.00 | S355JR EN 10025 / EN 1461
*) In these measurements the bandwidth tolerance is recorded. Tolerances of the + ,99 . 2,5£0.17 0|6 -
non-deformed bands according to DIN EN 10051 refer to a nominal width of 3 CSa E— © '5;3 8.001.03 48 Wood beam cover 1990x160 6.00 288.00 | pine wood
435mm c”"end a nomina thickness of 2.5mm £ 0.17 S L i L 8.001.04 |48 | Wood post cover 410x180 3.00 144.00 | pine wood
| | +4 20 23" 10.10 48 Butt plate M10 Fl. 40x5x115 0.20 9.60 S235JR EN 10025 / EN 1461
40.00 72 HRK-bolt with nib, with nut M16x27 0.10 7.20 46 ISO 4032
D-D (2:1 8.001.04 40.42 48 | Hex bolt, with nut M10x45 0.05 240 |46 1SO 4032
hamfer 10x45° 8.001.03 S 8.001.05 |144 | HRK-bolt with nib, with nut M16x60 0.15 2160 | 4.6 ISO 4032
2543 10 ; / D——I T - 40.30 72 | Washer 18 mm 30x3 0.04 288 | DIN126
1 a 40.32 144 | Washer 50x18 mm 50x4 0.06 6.64 DIN126
Q 8 RC +- =
o 9 2 ] I e e -- E E < 40.60 48 Washer 11 mm 20x2 0.00 0.00 DIN126
© ~
- % § D—=1 Weight of the construction: - Weight/Running metter: 34.68 kg Test lenght: 48 m
495+3 100043 49543 5 —
1 Title, Additional title:
N 18043 T PASSion L1 H1-A-W2 (ES 1.00)
= 199045 1043
™ E-E (2:1)

Remark: wood measurements can vary slightly due to its material attitudes, without affecting the performance

10_A0£3

Bl

ol

Part number:

Material:

S355JR;S235JR;4.6;wood

Surface:

steel; wood cover

Document number:

X8.1-100-200

Form.:

A3

Scale:

1:20(1:10) (1:5)

Date of issue:

2020-12

Created by:
W. Babiarz




	PASSion L1 ES 1 Model

